

Willmott Fuzzy Implication in Fuzzy Databases

SANELA NESIMOVIĆ
University of Sarajevo
Faculty of Educational Sciences
Skenderija 72, 71000 Sarajevo
BOSNIA AND HERZEGOVINA

DŽENAN GUŠIĆ
University of Sarajevo
Faculty of Sciences and Mathematics
Department of Mathematics
Zmaja od Bosne 33-35, 71000 Sarajevo
BOSNIA AND HERZEGOVINA

Abstract: The object of the research are fuzzy functional dependencies on given relation scheme, and the question of their obtaining using the classical and innovated techniques. The attributes of the universal set are associated to the elements of the unit interval, and are turned into fuzzy formulas in this way. We prove that the dependency (which is treated as a fuzzy formula with respect to appropriately chosen valuation) is valid whenever it agrees with the attached two-elements fuzzy relation instance. The opposite direction of the claim is proven to be incorrect in this setting. Generalizing things to sets of attributes, we prove that particular fuzzy functional dependency follows form a set of fuzzy dependencies (in both, the world of two-element and the world of arbitrary fuzzy relation instances) if and only if the dependency is valid with respect to valuation anytime the set of fuzzy formulas agrees with the valuation. The results derived in paper show that the classical techniques in the procedure for generating new fuzzy dependencies may be replaced by the resolution ones, and hence automated. The research is conducted with respect to Willmott fuzzy implication operator.

Key-Words: Willmott fuzzy implication, functional dependencies, fuzzy formulas, fuzzy relations

Received: May 19, 2020. Revised: November 7, 2020. Accepted: December 1, 2020. Published: December 29, 2020.

1 Introduction

The concept of the clause whose truth depends on truth of some set of clauses is discussed in [1]. Actually, it was proven that in the case when each clause of some set of clauses is more that half true, and the most reliable clause is correct with value a while the clause with the most opposite correctness is b , then, it is guaranteed that all off the logical consequences obtained by repeated applications of the inference rules (resolution rules) are correct with the degree of validity between a and b .

The importance of functional dependencies comes from the fact that any database designer has to remove (at some moment) the redundancy that necessarily occurs in the relations. The concept is based on the equality relation, that it, on the fact that $X \rightarrow Y$ (X determines Y), if $t[X] = t'[X]$ yields $t[Y] = t'[Y]$. Obviously, being based on equalities, the concept is not applicable to similarity-based relations. In [2], authors discuss the problem in terms of semantics and formal definitions. Thus, the definition of functional dependency becomes fuzzy, and turns into $X \rightarrow_F Y$ if the similarity between $t[X]$ and $t'[X]$ implies the similarity between $t[Y]$ and $t'[Y]$. The concept is fully developed in [2], including both, precise and imprecise dependencies by accepting the linguis-

tic strength of the dependency.

An interesting approach was discussed in [3], where the author gives the definition of fuzzy functional dependency based on the semantic distance. In particular, a fuzzy functional dependency $X \rightarrow_F Y$ is said to hold in a fuzzy instance r , if

$$SS(t_i[X], t_j[X]) \leq SS(t_i[Y], t_j[Y])$$

for all $t_i, t_j \in r$, where $SS(f_1, f_2)$ is the semantic similarity (the complement of $SD(f_1, f_2)$), for

$$SD(f_1, f_2) = \max_{x \in \text{dom}(A_i)} |f_1(X) - f_2(X)|,$$

on attribute A_i , and fuzzy values $f_1(X), f_2(X)$.

The approaches to include fuzzy data into classical database theory assume: the use of fuzzy membership values [4] (the fuzzy membership attribute defines the membership degree of some tuple in the relation instance), [5] (the membership value defines the strength of the dependency between attributes), possibility distribution [6]-[8] (fuzzy-known values are represented in terms of possibility distributions of values contained in the unit interval), and similarity relations [9]-[11].

Regarding some additional fuzzy functional concepts, we recall [12] (described via membership function of the element of fuzzy relation), [13] (conformance between tuples), etc.

Further investigations on relations between theory of fuzzy functional dependencies (based on similarities), and fuzzy logic, are discussed in [14]. They rely on [2].

The research is then generalized in [15] to include not only fuzzy functional, but also fuzzy multivalued dependencies. In particular, the authors offer an algorithm to generally and automatically decide whether or not a fuzzy functional or a fuzzy multivalued dependency follows from a set of dependencies.

Finally, the research is raised to a vague level in [16], where it was shown that the inference rules for new vague functional dependencies are sound and complete. The use of various similarity relations (measures) between vague values, vague sets, and attributes (sets of attributes) is also discussed. We notice that several concepts of vague similarity relations are present in [17], [18] and [19]. There are also papers like [20] and [21].

The authors in [22], for example, propose a vague relational database model, and define a new kind of vague functional dependency called α -vague functional dependency. The inference rules (similar to Armstrong's axioms for the classical case) are also presented.

The research on properties of vague relational databases is continued in [23], where it was rigorously proved that reflexive, augmentation, transitivity, pseudo-transitivity, and decomposition inference rules are sound. Applications in terms of Lukasiewicz fuzzy implication operator are provided in [24] (see also, [25], [26]).

The interesting results are discussed in [27] and [28].

The goal of the present research is to relate fuzzy functional dependencies to fuzzy formulas (and vice versa).

Motivated by Lee's research [1] (noted above), we assign $[0, 1]$ -value to attributes, and hence turn fuzzy functional dependencies into fuzzy formulas. Our research follows similarity-based work [2], and thus relies on the approach developed in [9]-[11]. We actualize the question of automated obtaining of new fuzzy functional dependencies utilizing the techniques of resolution theory. Thus, if dependency is in line with given fuzzy relation instance (see, Theorem 1), we prove that it also agrees with the attached valuation (when written in the form of fuzzy formula).

The opposite claim is proven not to be valid (Theorem 2).

The concept is generalized to sets of attributes,

where it is proven that particular fuzzy functional dependency is a logical consequence of some set of dependencies (in areas of two-element and arbitrary fuzzy relations) if and only if the dependency (taken in the form of fuzzy formula) is valid with respect to valuation (interpretation) when the set of fuzzy formulas is true with respect to same valuation (Theorems 3-5).

The research is done utilizing the Willmott fuzzy implication operator [29], and it shows that the traditional methods (inference rules), which are classically applied to generate new dependencies, may be replaced by the automated ones (following from resolution techniques).

2 Preliminaries

Let t_i be the i -th tuple in any relation.

It can be represented in the form (d_{i1}, \dots, d_{im}) , where d_{ij} is a subset of the domain D_j of the attribute A_j .

In particular, we assume that $d_{ij} \neq \emptyset$.

A similarity relation s_j is a function $s_j : D_j \times D_j \rightarrow [0, 1]$, having the properties: $s_j(a, a) = 1$ (reflexive), $s_j(a, b) = s_j(b, a)$ (symmetry), $s_j(a, c) \geq \max \left\{ \min_{b \in D_j} \{s_j(a, b), s_j(b, c)\} \right\}$ (max-min transitivity).

The identity relation is then a special case of the similarity relation.

A fuzzy relation instance r is defined as a subset of the set $2^{D_1} \times 2^{D_2} \times \dots \times 2^{D_m}$.

So, a fuzzy tuple t is any member of fuzzy relation instance r and the set $2^{D_1} \times 2^{D_2} \times \dots \times 2^{D_m}$.

The conformance of the attribute A_k (on the domain D_k) for any two tuples t_i and t_j (the elements of some fuzzy relation instance r), is denoted by $\varphi(A_k[t_i, t_j])$, and is given by

$$\begin{aligned} & \varphi(A_k[t_i, t_j]) \\ &= \min \left\{ \min_{x \in d_i} \left\{ \max_{y \in d_j} \{s(x, y)\} \right\}, \right. \\ & \left. \min_{x \in d_j} \left\{ \max_{y \in d_i} \{s(x, y)\} \right\} \right\}, \end{aligned}$$

where d_i is the value of the attribute A_k on tuple t_i , d_j is the value of A_k on t_j , and $s(x, y)$ is a similarity relation between values x and y .

Consequently, the definition of conformance is generalized to describe the similarities between tuples on sets of attributes. In particular, the conformance of tuples t_i and t_j on set of attributes X is denoted by $\varphi(X[t_i, t_j])$, and is defined by

$$\varphi(X[t_i, t_j]) = \min_{A \in X} \{\varphi(A[t_i, t_j])\}.$$

Thus, if $X \supseteq Y$, then

$\varphi(Y[t_i, t_j]) \geq \varphi(X[t_i, t_j])$ for any $t_i, t_j \in r$. If $X = \{A_1, \dots, A_n\}$, and $\varphi(A_k[t_i, t_j]) \geq \theta$ for all $k \in \{1, 2, \dots, n\}$, then $\varphi(X[t_i, t_j]) \geq \theta$ for any t_i and t_j in r , $\theta \in [0, 1]$. Furthermore, if $\varphi(X[t_i, t_j]) \geq \theta$, and $\varphi(X[t_j, t_k]) \geq \theta$, then $\varphi(X[t_i, t_k]) \geq \theta$ for any t_i, t_j and t_k in r , $\theta \in [0, 1]$.

If r is a fuzzy relation instance on scheme $R(A_1, \dots, A_n)$, where U is the universal set of attributes ($U = \{A_1, \dots, A_m\}$), and X, Y are subsets of U , then the fuzzy relation instance r is said to satisfy the fuzzy functional dependency $X \xrightarrow{\theta}_F Y$ if for every pair of tuples t_1 and t_2 in r ,

$$\varphi(Y[t_1, t_2]) \geq \min\{\theta, \varphi(X[t_1, t_2])\}.$$

θ belongs to $[0, 1]$ and describes the linguistic strength of the dependency.

A formula $f \in S$, where S is a set of fuzzy formulas, is said to be satisfied (incorrect) with respect to interpretation I , if $T(f) \geq 0.5$ ($T(f) \leq 0.5$) under I . If $T(f) \leq 0.5$ with regard to all possible I 's, the formula f is called unsatisfiable.

Suppose that $D_1 : L_1 \vee D'_1$ and $D_2 : L_2 \vee D'_2$ are two disjuncts, where L_1 and L_2 are contra pair of literals, i.e., $L_2 : \neg L_1$. Assume that D'_1 and D'_2 do not contain any additional pair of contra literals. Then, the disjunct $D'_1 \vee D'_2$ is called the resolvent between disjuncts D_1 and D_2 with the key word L_1 .

If S is a set of clauses, then the resolution of S , denoted by $Res(S)$, is the set consisting of members of S together with all of the resolvents of pairs of members in S . The n -th resolution of S ($Res^n(S)$), is defined for $n \geq 0$ by

$$\begin{aligned} Res^0(S) &= S, \\ Res^{n+1}(S) &= Res(Res^n(S)). \end{aligned}$$

If R is a relation scheme, $r = \{t_1, t_2\}$ is an instance, and θ is a value in $[0, 1]$, the valuation $i_{r,\theta}(A)$ of the attribute A in R is defined by

$$\begin{cases} > 0.5, & \varphi(A[t_1, t_2]) \geq \theta; \\ \leq 0.5, & \varphi(A[t_1, t_2]) < \theta. \end{cases}$$

Consequently, the fuzzy formula

$$(A_1 \wedge \dots \wedge A_m) \Rightarrow (B_1 \wedge \dots \wedge B_n)$$

is assigned to the fuzzy functional dependency $X \xrightarrow{\theta}_F Y$, where $X = \{A_1, \dots, A_m\}$, $Y = \{B_1, \dots, B_n\}$.

Through the rest of the paper we shall assume that the fuzzy implication is actually the Willmott fuzzy implication $W(a, b)$ [29], defined by

$$W(a, b) = \min \left\{ \max\{1 - a, b\}, \max\{a, 1 - a\}, \max\{b, 1 - b\} \right\},$$

and that conjunction $C(a, b)$ and disjunction $D(a, b)$ are given by $C(a, b) = \min\{a, b\}$ and $D(a, b) = \max\{a, b\}$ (see, [30] and [31]).

3 Results

Theorem 1. Suppose that $X \xrightarrow{\theta}_F Y$ is a fuzzy functional dependency given on the relation scheme R , and r a two-element fuzzy relation instance on R . Let $r = \{t_1, t_2\}$. If the fuzzy functional dependency $X \xrightarrow{\theta}_F Y$ is satisfied by the instance r , then, the fuzzy formula attached to $X \xrightarrow{\theta}_F Y$ is satisfied by the valuation $i_{r,\theta}$.

Proof. Consider the Willmott fuzzy implication

$$W(a, b) = \min \left\{ \max\{1 - a, b\}, \max\{a, 1 - a\}, \max\{b, 1 - b\} \right\}.$$

Assume that the fuzzy relation instance r satisfies fuzzy functional dependency $X \xrightarrow{\theta}_F Y$.

So, we assume that

$$\varphi(Y[t_1, t_2]) \geq \min\{\theta, \varphi(X[t_1, t_2])\},$$

where $X = \{A_1, \dots, A_m\}$, $Y = \{B_1, \dots, B_n\}$.

Suppose contrary, that the claim of theorem is not fulfilled, that is, that the fuzzy formula

$$\begin{aligned} (A_1 \wedge \dots \wedge A_m) &\Rightarrow \\ (B_1 \wedge \dots \wedge B_n) & \end{aligned}$$

is not satisfied with respect to $i_{r,\theta}$.

This means that

$$\frac{1}{2} \geq i_{r,\theta} \left((A_1 \wedge \dots \wedge A_m) \Rightarrow (B_1 \wedge \dots \wedge B_n) \right) = \tag{1}$$

$$\min \left\{ \max \left\{ 1 - i_{r,\theta} (A_1 \wedge \dots \wedge A_m), i_{r,\theta} (B_1 \wedge \dots \wedge B_n) \right\}, \max \left\{ i_{r,\theta} (A_1 \wedge \dots \wedge A_m), 1 - i_{r,\theta} (A_1 \wedge \dots \wedge A_m) \right\}, \max \left\{ i_{r,\theta} (B_1 \wedge \dots \wedge B_n), 1 - i_{r,\theta} (B_1 \wedge \dots \wedge B_n) \right\} \right\}.$$

If the minimum is

$$\max \left\{ 1 - i_{r,\theta} (A_1 \wedge \dots \wedge A_m), i_{r,\theta} (B_1 \wedge \dots \wedge B_n) \right\}, \tag{2}$$

then the maximum must be at most $\frac{1}{2}$.

If the maximum is $1 - i_{r,\theta} (A_1 \wedge \dots \wedge A_m)$, we obtain

$$1 - i_{r,\theta} (A_1 \wedge \dots \wedge A_m) \leq \frac{1}{2},$$

i.e.,

$$i_{r,\theta} (A_1 \wedge \dots \wedge A_m) \geq \frac{1}{2}.$$

Hence, $i_{r,\theta} (A_k) \geq \frac{1}{2}$ for all $k \in \{1, 2, \dots, m\}$, that is $\varphi (A_k [t_1, t_2]) \geq \theta$ for all $k \in \{1, 2, \dots, m\}$.

Now, it follows that

$$\begin{aligned} & \varphi (X [t_1, t_2]) \\ &= \min \{ \varphi (A_1 [t_1, t_2]), \dots, \varphi (A_m [t_1, t_2]) \} \\ & \geq \theta \end{aligned}$$

Since we assume that the dependency $X \xrightarrow{\theta}_F Y$ is satisfied by r , we obtain

$$\begin{aligned} & \min \{ \varphi (B_1 [t_1, t_2]), \dots, \varphi (B_n [t_1, t_2]) \} \\ &= \varphi (Y [t_1, t_2]) \\ & \geq \min \{ \theta, \varphi (X [t_1, t_2]) \} \\ & \geq \min \{ \theta, \theta \} = \theta. \end{aligned}$$

It follows that $\varphi (B_k [t_1, t_2]) \geq \theta$ for all $k \in \{1, 2, \dots, n\}$.

In other words, $i_{r,\theta} (B_k) > \frac{1}{2}$ for all $k \in \{1, 2, \dots, n\}$.

Since the minimum in (2) is $1 - i_{r,\theta} (A_1 \wedge \dots \wedge A_m)$, we obtain that $i_{r,\theta} (B_1 \wedge \dots \wedge B_n)$ is also at most $\frac{1}{2}$.

Hence, $i_{r,\theta} (B_1 \wedge \dots \wedge B_n) \leq \frac{1}{2}$, so $i_{r,\theta} (B_k) \leq \frac{1}{2}$ for at least one $B_k, k \in \{1, 2, \dots, n\}$.

This is a contradiction.

So, it must be $i_{r,\theta} (B_1 \wedge \dots \wedge B_n) > \frac{1}{2}$.

We obtain, $i_{r,\theta} (B_k) > \frac{1}{2}$, and $\varphi (B_k [t_1, t_2]) \geq \theta$ for all $k \in \{1, 2, \dots, n\}$.

If the minimum in (2) is $i_{r,\theta} (B_1 \wedge \dots \wedge B_n)$, then $i_{r,\theta} (B_1 \wedge \dots \wedge B_n) \leq \frac{1}{2}$, i.e., $i_{r,\theta} (B_k) \leq \frac{1}{2}$ for some $k \in \{1, 2, \dots, n\}$.

Since in this scenario

$$\begin{aligned} & 1 - i_{r,\theta} (A_1 \wedge \dots \wedge A_m) \\ & \leq i_{r,\theta} (B_1 \wedge \dots \wedge B_n), \end{aligned}$$

it follows that

$$1 - i_{r,\theta} (A_1 \wedge \dots \wedge A_m) \leq \frac{1}{2},$$

that is, $i_{r,\theta} (A_1 \wedge \dots \wedge A_m) \geq \frac{1}{2}$.

As in the previous case, it follows that $\varphi (X [t_1, t_2]) \geq \theta$ and then, $\varphi (Y [t_1, t_2]) \geq \theta$.

In other words, $i_{r,\theta} (B_k) > \frac{1}{2}$ for all $k \in \{1, 2, \dots, n\}$.

This is the contradiction.

Suppose that the minimum in (1) is

$$\max \left\{ i_{r,\theta} (A_1 \wedge \dots \wedge A_m), 1 - i_{r,\theta} (A_1 \wedge \dots \wedge A_m) \right\}. \tag{3}$$

Let the maximum in (3) be $i_{r,\theta} (A_1 \wedge \dots \wedge A_m)$.

Then, $i_{r,\theta} (A_1 \wedge \dots \wedge A_m) \leq \frac{1}{2}$, i.e., $i_{r,\theta} (A_k) \leq \frac{1}{2}$ for some $k \in \{1, 2, \dots, m\}$.

Hence, $\varphi (A_k [t_1, t_2]) < \theta$ for some $k \in \{1, 2, \dots, m\}$. This means that

$$\begin{aligned} & \varphi (X [t_1, t_2]) \\ &= \min \{ \varphi (A_1 [t_1, t_2]), \dots, \varphi (A_m [t_1, t_2]) \} \\ & < \theta. \end{aligned}$$

Note that,

$$\varphi(Y[t_1, t_2]) \geq \min\{\theta, \varphi(X[t_1, t_2])\}.$$

Moreover,

$$1 - i_{r,\theta}(A_1 \wedge \dots \wedge A_m) \leq i_{r,\theta}(A_1 \wedge \dots \wedge A_m) \leq \frac{1}{2}.$$

We obtain, $i_{r,\theta}(A_1 \wedge \dots \wedge A_m) \geq \frac{1}{2}$, i.e., $\varphi(X[t_1, t_2]) \geq \theta$.

This is a contradiction.

Now, suppose that the maximum in (3) is

$$1 - i_{r,\theta}(A_1 \wedge \dots \wedge A_m).$$

We have,

$$i_{r,\theta}(A_1 \wedge \dots \wedge A_m) \leq 1 - i_{r,\theta}(A_1 \wedge \dots \wedge A_m) \leq \frac{1}{2}.$$

Hence, $i_{r,\theta}(A_1 \wedge \dots \wedge A_m) \leq \frac{1}{2}$, i.e., $i_{r,\theta}(A_k) \leq \frac{1}{2}$ for some $k \in \{1, 2, \dots, n\}$, or $\varphi(A_k[t_1, t_2]) < \theta$ for some $k \in \{1, 2, \dots, m\}$.

Furthermore, $i_{r,\theta}(A_1 \wedge \dots \wedge A_m) \geq \frac{1}{2}$, i.e., $i_{r,\theta}(A_k) \geq \frac{1}{2}$ for all $k \in \{1, 2, \dots, m\}$, or $\varphi(A_k[t_1, t_2]) \geq \theta$ for all $k \in \{1, 2, \dots, m\}$.

This is a contradiction.

Finally, suppose that the minimum in (1) is

$$\max\left\{i_{r,\theta}(B_1 \wedge \dots \wedge B_n), 1 - i_{r,\theta}(B_1 \wedge \dots \wedge B_n)\right\}.$$

The case is symmetric to the case (3), so it necessarily leads to contradiction.

The assumption that the claim of theorem is not fulfilled leads to contradiction.

Consequently, the theorem follows. \square

Now, we prove that the opposite claim of the claim given by Theorem 1 is not always true.

Theorem 2. *Suppose that the assumptions of Theorem 1 hold. If the fuzzy formula attached to $X \xrightarrow{\theta}_F Y$ is valid under the action of $i_{r,\theta}$, then, the fuzzy functional dependency $X \xrightarrow{\theta}_F Y$ is not necessarily correct with respect to r .*

Proof. By our assumption,

$$\frac{1}{2} < i_{r,\theta}\left((A_1 \wedge \dots \wedge A_m) \Rightarrow (B_1 \wedge \dots \wedge B_n)\right) = \tag{4}$$

$$\min\left\{\max\left\{1 - i_{r,\theta}(A_1 \wedge \dots \wedge A_m), i_{r,\theta}(B_1 \wedge \dots \wedge B_n)\right\}, \max\left\{i_{r,\theta}(A_1 \wedge \dots \wedge A_m), 1 - i_{r,\theta}(A_1 \wedge \dots \wedge A_m)\right\}, \max\left\{i_{r,\theta}(B_1 \wedge \dots \wedge B_n), 1 - i_{r,\theta}(B_1 \wedge \dots \wedge B_n)\right\}\right\}.$$

Let the minimum in (4) be

$$\max\left\{1 - i_{r,\theta}(A_1 \wedge \dots \wedge A_m), i_{r,\theta}(B_1 \wedge \dots \wedge B_n)\right\}.$$

If the maximum is $1 - i_{r,\theta}(A_1 \wedge \dots \wedge A_m)$, then

$$i_{r,\theta}(B_1 \wedge \dots \wedge B_n) \leq 1 - i_{r,\theta}(A_1 \wedge \dots \wedge A_m) > \frac{1}{2}.$$

It follows that $i_{r,\theta}(A_1 \wedge \dots \wedge A_m) < \frac{1}{2}$.

Hence, $i_{r,\theta}(A_k) < \frac{1}{2}$ for some $k \in \{1, 2, \dots, m\}$, or $\varphi(A_k[t_1, t_2]) < \theta$.

Consequently, $\varphi(X[t_1, t_2]) < \theta$.

Since

$$i_{r,\theta}(B_1 \wedge \dots \wedge B_n) + i_{r,\theta}(A_1 \wedge \dots \wedge A_m) \leq 1,$$

and $i_{r,\theta}(A_1 \wedge \dots \wedge A_m) > \frac{1}{2}$, we obtain that $i_{r,\theta}(B_1 \wedge \dots \wedge B_n) < \frac{1}{2}$.

Consequently, $\varphi(Y[t_1, t_2]) < \theta$.

We have,

$$\min\{\theta, \varphi(X[t_1, t_2])\} = \varphi(X[t_1, t_2]).$$

Since $\varphi(X[t_1, t_2]) < \theta$, and also $\varphi(Y[t_1, t_2]) < \theta$, it is possible to happen that

$$\begin{aligned} & \varphi(Y [t_1, t_2]) \\ & < \varphi(X [t_1, t_2]) \\ & = \min \{ \theta, \varphi(X [t_1, t_2]) \}. \end{aligned}$$

Thus, $X \xrightarrow{\theta}_F Y$ is not necessarily satisfied by r .
 The cases

$$\begin{aligned} & \max \left\{ i_{r,\theta} (A_1 \wedge \dots \wedge A_m), \right. \\ & \left. 1 - i_{r,\theta} (A_1 \wedge \dots \wedge A_m) \right\} \end{aligned}$$

and

$$\begin{aligned} & \max \left\{ i_{r,\theta} (B_1 \wedge \dots \wedge B_n), \right. \\ & \left. 1 - i_{r,\theta} (B_1 \wedge \dots \wedge B_n) \right\} \end{aligned}$$

which may appear in (4) are symmetric, and mutually equivalent hence. So, we consider only one of them.

For the sake of clarity, assume that the minimum in (4) is

$$\begin{aligned} & \max \left\{ i_{r,\theta} (A_1 \wedge \dots \wedge A_m), \right. \\ & \left. 1 - i_{r,\theta} (A_1 \wedge \dots \wedge A_m) \right\}. \end{aligned}$$

If the maximum is $i_{r,\theta} (A_1 \wedge \dots \wedge A_m)$, then

$$\begin{aligned} & 1 - i_{r,\theta} (A_1 \wedge \dots \wedge A_m) \\ & \leq i_{r,\theta} (A_1 \wedge \dots \wedge A_m) > \frac{1}{2}. \end{aligned}$$

Thus, the right inequality yields that

$$i_{r,\theta} (A_1 \wedge \dots \wedge A_m) > \frac{1}{2}.$$

On the other side, the left-hand side inequality implies that $i_{r,\theta} (A_1 \wedge \dots \wedge A_m) \geq \frac{1}{2}$.

This is the contradiction.

This means that the only possible case, which makes sense in (4), is the case

$$\begin{aligned} & \max \left\{ 1 - i_{r,\theta} (A_1 \wedge \dots \wedge A_m), \right. \\ & \left. i_{r,\theta} (B_1 \wedge \dots \wedge B_n) \right\}. \end{aligned}$$

As we already discussed, this case does not necessarily yield the correctness of $X \xrightarrow{\theta}_F Y$ under r .

This completes the proof. \square

The following result does not depend on the selection of fuzzy implication operator.

Theorem 3. Let $X \xrightarrow{\theta}_F Y$ be a fuzzy functional dependency on given scheme R . Suppose that F is a set of fuzzy functional dependencies on R . Then, $X \xrightarrow{\theta}_F Y$ is a consequence of the set F if and only if $X \xrightarrow{\theta}_F Y$ follows from the set F in the world of two-elements relations.

Proof. (\Rightarrow) Clearly, if the dependency $X \xrightarrow{\theta}_F Y$ is a consequence of F , then, it is understood that $X \xrightarrow{\theta}_F Y$ is a consequence of F in arbitrary fuzzy relation instances.

So, if this implication is true (note that it is obvious that the set of two-element fuzzy relation instances is a subset of the general set of instances), it becomes clear that this direction of the claim follows immediately. (\Leftarrow) Suppose that the set F determines

$X \xrightarrow{\theta}_F Y$ in the world of two-tuples relations.

Suppose also the opposite, that $X \xrightarrow{\theta}_F Y$ does not follow from F .

This means that some fuzzy relation instance r , violates dependency $X \xrightarrow{\theta}_F Y$.

By the very definition of the functional dependency, it follows that the condition

$$\varphi(Y [t_1, t_2]) \geq \min \{ \theta, \varphi(X [t_1, t_2]) \}$$

is not true for all $t_1, t_2 \in r$.

In other words,

$$\varphi(Y [t_1, t_2]) < \min \{ \theta, \varphi(X [t_1, t_2]) \}$$

for some $t_1, t_2 \in r$.

Denote, $r_1 = \{t_1, t_2\}$.

Now, r_1 is an example of the two-tuples instance which violates $X \xrightarrow{\theta}_F Y$.

This is the contradiction.

Hence, the theorem follows. \square

Theorem 4. Let $X \xrightarrow{\theta}_F Y$ be a fuzzy functional dependency on scheme R , and F a set of fuzzy functional dependencies on R . If some fuzzy relation instance r on R satisfies F , and violates $X \xrightarrow{\theta}_F Y$, then, there exists some two-elements fuzzy relation instance $r_1 \subseteq r$, such that r satisfies F , and violates $X \xrightarrow{\theta}_F Y$.

Proof. Let r satisfies F , and violates $X \xrightarrow{\theta}_F Y$.

By Theorem 3, this means that the assumption that $X \xrightarrow{\theta}_F Y$ is a consequence of F is not true, which

means that there is a fuzzy relation instance (it is exactly the instance r), such that r satisfies F and violates $X \xrightarrow{\theta}_F Y$.

Hence, by Theorem 3, $X \xrightarrow{\theta}_F Y$ does not follow from F in the world of two-element relations.

More precisely, there exists some two-element relation r_1 which agrees with the set F , and fails to satisfy the dependency $X \xrightarrow{\theta}_F Y$.

Clearly, r_1 may be considered as a subset of r .

Namely, r violates $X \xrightarrow{\theta}_F Y$, so there are tuples t_1 and t_2 in r , such that

$$\varphi(Y[t_1, t_2]) < \min\{\theta, \varphi(X[t_1, t_2])\}.$$

If we put $r_1 = \{t_1, t_2\}$, then r_1 is a desired two-element relation.

This completes the proof. \square

The main results of this research are given by the following two theorems.

Theorem 5. *Let $X \xrightarrow{\theta}_F Y$ be a fuzzy functional dependency on scheme R , and F a set of fuzzy functional dependencies. If $X \xrightarrow{\theta}_F Y$ follows from F in the world of two-element fuzzy relation instances, then, the fuzzy formula attached to $X \xrightarrow{\theta}_F Y$ is valid.*

Proof. In order to prove the correctness of the claim, we shall show assume that each of the domains of the attributes has only two elements. Moreover, we shall assume that the domains are the same, and that they are given by set $\{p, q\}$.

The dependencies from the set F together with the given dependency determine the set of corresponding linguistic strengths.

Since the set is finite one, it has the minimal element. If such the element is denoted by θ' , we shall take and fix any value which is strictly smaller than θ' .

Denote it by θ'' .

The similarity relations on each of the universe of discourses will be assumed to take value θ'' at (p, q) and (q, p) .

In order to prove the claim of theorem, we shall apply the contraposition law. Thus, we shall prove that the negated claim of theorem implies the negated assumption.

So, suppose that the fuzzy formula

$$(A_1 \wedge \dots \wedge A_m) \Rightarrow (B_1 \wedge \dots \wedge B_n)$$

is not correct, where $X = \{A_1, \dots, A_m\}$, $Y = \{B_1, \dots, B_n\}$.

Thus,

$$\frac{1}{2} \geq i_{r,\beta} \left((A_1 \wedge \dots \wedge A_m) \Rightarrow (B_1 \wedge \dots \wedge B_n) \right) = \tag{5}$$

$$\min \left\{ \max \left\{ 1 - i_{r,\beta} (A_1 \wedge \dots \wedge A_m), i_{r,\beta} (B_1 \wedge \dots \wedge B_n) \right\}, \max \left\{ i_{r,\beta} (A_1 \wedge \dots \wedge A_m), 1 - i_{r,\beta} (A_1 \wedge \dots \wedge A_m) \right\}, \max \left\{ i_{r,\beta} (B_1 \wedge \dots \wedge B_n), 1 - i_{r,\beta} (B_1 \wedge \dots \wedge B_n) \right\} \right\}$$

for some $i_{r,\beta}$, where r has two-elements, and $0 \leq \beta \leq 1$.

Let $r = \{t_1, t_2\}$.

First, we shall consider the set of those attributes A , for which $i_{r,\beta}(A) > \frac{1}{2}$.

We shall prove that this set is not empty, and that it does not coincide with the set of all attributes.

We shall prove this in two steps.

First, suppose contrary, that $i_{r,\beta}(A) \leq \frac{1}{2}$ for all A 's.

Note that this fact gives that $i_{r,\beta}(C_1 \wedge \dots \wedge C_p) \leq \frac{1}{2}$ for any set of attributes $\{C_1, \dots, C_p\}$.

Suppose the minimum in (5) is

$$\max \left\{ i_{r,\beta} (A_1 \wedge \dots \wedge A_m), 1 - i_{r,\beta} (A_1 \wedge \dots \wedge A_m) \right\}.$$

The case

$$\max \left\{ i_{r,\beta} (B_1 \wedge \dots \wedge B_n), 1 - i_{r,\beta} (B_1 \wedge \dots \wedge B_n) \right\}$$

is symmetric case, so we consider only the first one.

It can happen that either

$$i_{r,\beta} (A_1 \wedge \dots \wedge A_m) \leq 1 - i_{r,\beta} (A_1 \wedge \dots \wedge A_m) \leq \frac{1}{2}$$

or

$$1 - i_{r,\beta}(A_1 \wedge \dots \wedge A_m) \leq i_{r,\beta}(A_1 \wedge \dots \wedge A_m) \leq \frac{1}{2}.$$

Both of these scenarios yield the contradiction $i_{r,\beta}(A_1 \wedge \dots \wedge A_m) \leq \frac{1}{2}$ and $i_{r,\beta}(A_1 \wedge \dots \wedge A_m) \geq \frac{1}{2}$.

So, it follows that the minimum in (5) is

$$\max \left\{ 1 - i_{r,\beta}(A_1 \wedge \dots \wedge A_m), i_{r,\beta}(B_1 \wedge \dots \wedge B_n) \right\}.$$

We obtain that,

$$1 - i_{r,\beta}(A_1 \wedge \dots \wedge A_m) \leq i_{r,\beta}(B_1 \wedge \dots \wedge B_n) \leq \frac{1}{2}$$

or

$$i_{r,\beta}(B_1 \wedge \dots \wedge B_n) \leq 1 - i_{r,\beta}(A_1 \wedge \dots \wedge A_m) \leq \frac{1}{2}.$$

In any case, it follows that

$$1 - i_{r,\beta}(A_1 \wedge \dots \wedge A_m) \leq \frac{1}{2}, \text{ i.e., } i_{r,\beta}(A_1 \wedge \dots \wedge A_m) \geq \frac{1}{2}.$$

Thus,

$$\min \{i_{r,\beta}(A_1), \dots, i_{r,\beta}(A_m)\} = i_{r,\beta}(A_1 \wedge \dots \wedge A_m) \geq \frac{1}{2},$$

so $i_{r,\beta}(A_k) \geq \frac{1}{2}$ for all $k \in \{1, 2, \dots, m\}$.

This is a contradiction.

It follows that the set of the attributes A , such that $i_{r,\beta}(A) > \frac{1}{2}$ is not empty.

Second, suppose contrary, that $i_{r,\beta}(A) > \frac{1}{2}$ for all A 's.

Reasoning as in the previous case, we see that (5) yields that either

$$1 - i_{r,\beta}(A_1 \wedge \dots \wedge A_m) \leq i_{r,\beta}(B_1 \wedge \dots \wedge B_n) \leq \frac{1}{2}$$

or

$$i_{r,\beta}(B_1 \wedge \dots \wedge B_n) \leq 1 - i_{r,\beta}(A_1 \wedge \dots \wedge A_m) \leq \frac{1}{2}.$$

Hence, in any scenario, $i_{r,\beta}(B_1 \wedge \dots \wedge B_n) \leq \frac{1}{2}$.

This means that there exists some $B_k, k \in \{1, 2, \dots, n\}$, such that $i_{r,\beta}(B_k) \leq \frac{1}{2}$.

This is the contradiction.

We conclude, the set of those A 's, for which $i_{r,\beta}(A) > \frac{1}{2}$, does not coincide with the set of all attributes.

Now, we introduce two-tuple fuzzy relation instance, requiring that its tuples coincide in those A 's, for which $i_{r,\beta}(A) > \frac{1}{2}$.

If we denote this instance by r' , and its tuples by t' and t'' , then we have that $\varphi(A[t', t'']) = 1$ if $i_{r,\beta}(A) > \frac{1}{2}$, and $\varphi(A[t', t'']) = \theta''$ if $i_{r,\beta}(A) \leq \frac{1}{2}$.

Since each domain of each attribute is given by the set $\{p, q\}$, we may assume that each attribute A ($i_{r,\beta}(A) > \frac{1}{2}$), assumes the value p on both tuples t' and t'' , while the attribute A ($i_{r,\beta}(A) \leq \frac{1}{2}$), takes the value p on t' , and the value q on t'' .

Let

$$(P_1 \wedge \dots \wedge P_i) \Rightarrow (Q_1 \wedge \dots \wedge Q_j)$$

be the fuzzy formula corresponding to some element of F .

It can happen that either $i_{r,\beta}(P_1 \wedge \dots \wedge P_i) \leq \frac{1}{2}$ or $i_{r,\beta}(P_1 \wedge \dots \wedge P_i) > \frac{1}{2}$.

In the first case, $i_{r,\beta}(P_k) \leq \frac{1}{2}$ for some $k \in \{1, 2, \dots, i\}$, that is, $\varphi(P_k[t', t'']) = \theta''$.

Consequently, $\varphi(P[t', t'']) = \theta''$, where $P = \{P_1, \dots, P_i\}$, $Q = \{Q_1, \dots, Q_j\}$, and the dependency is given by $P \xrightarrow{\theta_2}_F Q$ for some strength $\theta_2 \in [0, 1]$.

Since $\varphi(Q[t', t'']) \geq \theta''$ always, we have that

$$\varphi(Q[t', t'']) \geq \min \left\{ \theta_2, \varphi(P[t', t'']) \right\}.$$

Thus, $P \xrightarrow{\theta_2}_F Q$ is correct under r' .

Suppose that $i_{r,\beta}(P_1 \wedge \dots \wedge P_i) > \frac{1}{2}$.

It is understood that we assume that

$$\frac{1}{2} < i_{r,\beta} \left((P_1 \wedge \dots \wedge P_i) \Rightarrow (Q_1 \wedge \dots \wedge Q_j) \right).$$

As earlier, we obtain that

$$1 - i_{r,\beta}(P_1 \wedge \dots \wedge P_i) \leq i_{r,\beta}(Q_1 \wedge \dots \wedge Q_j) > \frac{1}{2}.$$

or

$$i_{r,\beta}(Q_1 \wedge \dots \wedge Q_j) \leq 1 - i_{r,\beta}(P_1 \wedge \dots \wedge P_i) > \frac{1}{2}.$$

In the second case it follows that

$$i_{r,\beta}(P_1 \wedge \dots \wedge P_i) < \frac{1}{2}.$$

This is the contradiction.

In the first case, $i_{r,\beta}(Q_1 \wedge \dots \wedge Q_j) > \frac{1}{2}$ yields

$$\text{that } \varphi(Q[t', t'']) = 1.$$

Hence,

$$\varphi(Q[t', t'']) \geq \min\{\theta_2, \varphi(P[t', t''])\}.$$

We conclude, $P \xrightarrow{\theta_2}_F Q$ is correct with respect to r' .

In view of the contraposition law, the claim of theorem will follow if we prove that $X \xrightarrow{\theta}_F Y$ is violated by r' .

By (5),

$$1 - i_{r,\beta}(A_1 \wedge \dots \wedge A_m) \leq i_{r,\beta}(B_1 \wedge \dots \wedge B_n) \leq \frac{1}{2}.$$

or

$$i_{r,\beta}(B_1 \wedge \dots \wedge B_n) \leq 1 - i_{r,\beta}(A_1 \wedge \dots \wedge A_m) \leq \frac{1}{2}.$$

In any case, $i_{r,\beta}(B_1 \wedge \dots \wedge B_n) \leq \frac{1}{2}$, i.e.,

$$\varphi(Y[t', t'']) = \theta''.$$

Note that,

$$\begin{aligned} & \min\{\theta, \varphi(X[t', t''])\} \\ & \geq \min\{\theta, \theta''\} = \theta''. \end{aligned}$$

Hence,

$$\varphi(Y[t', t'']) < \min\{\theta, \varphi(X[t', t''])\}.$$

This completes the proof. \square

Now, it is not hard to check that the opposite claim of the claim given by Theorem 5 holds also true.

Theorem 6. Let $X \xrightarrow{\theta}_F Y$ be a fuzzy functional dependency on scheme R , and F a set of fuzzy functional dependencies. If the fuzzy formula associated to $X \xrightarrow{\theta}_F Y$ is correct, then the dependency $X \xrightarrow{\theta}_F Y$ is a logical consequence of the set F with respect to two-element fuzzy relations.

4 Applications

As it is known, new dependencies are classically derived with the use of the corresponding list of inference rules.

The second way, where the results derived above may be applied, is the one via resolution rules.

Example 1. Suppose that P, Q, R, S and L are some attributes on some scheme R_1 . Let F be the set of fuzzy functional dependencies on R_1 , whose elements are: $\{P\} \xrightarrow{\theta_1}_F \{Q\}$, $\{Q, R\} \xrightarrow{\theta_2}_F \{S\}$ and $\{S\} \xrightarrow{\theta_3}_F \{L\}$. Let $\{P, R\} \xrightarrow{\theta}_F \{L\}$ be the fuzzy functional dependency on R_1 , with $\theta = \min\{\theta_i : i \in \{1, 2, 3\}\}$. Prove that the set F determines $\{P, R\} \xrightarrow{\theta}_F \{L\}$.

Proof. I. Put $X = \{P\}$, $Y = \{Q\}$, $W = \{R\}$, $Z = \{S\}$, $T = \{L\}$.

It should be recognized that the elements of the set F can be written in the form: $X \xrightarrow{\theta_1}_F Y$, $W \cup Y \xrightarrow{\theta_2}_F Z$ and $Z \xrightarrow{\theta_3}_F T$.

Writing the set F in this form, we can easily find out which of the inference rules are to be applied.

Indeed, following [2, p. 168], the dependencies $X \xrightarrow{\theta_1}_F Y$ and $W \cup Y \xrightarrow{\theta_2}_F Z$, together with the pseudo-transitivity rule, give us $W \cup Y \xrightarrow{\theta'}_F Z$, where $\theta' = \min\{\theta_i : i \in \{1, 2\}\}$.

Furthermore, the dependencies $W \cup Y \xrightarrow{\theta'}_F Z$ and $Z \xrightarrow{\theta_3}_F T$ together with the classical transitivity rule yield the dependency $W \cup Y \xrightarrow{\theta''}_F T$, where $\theta'' = \min\{\theta', \theta_3\}$.

Having in mind our sets $X = \{P\}$, $W = \{R\}$, $T = \{L\}$, and the fact that

$$\begin{aligned} \theta'' &= \min\{\theta', \theta_3\} \\ &= \min\{\min\{\theta_i : i \in \{1, 2\}\}, \theta_3\} \\ &= \min\{\theta_i : i \in \{1, 2, 3\}\} = \theta, \end{aligned}$$

we arrive to the dependency $\{P, R\} \xrightarrow{\theta}_F \{L\}$. \square

Proof. II. In view of the results derived in this research, we may proceed in the following way.

According to our results, it is enough to prove that the fuzzy formula $\Gamma : P \wedge R \Rightarrow L$ is valid.

Clearly, we first assign the fuzzy formulas: $F_1 : P \Rightarrow Q$, $F_2 : Q \wedge R \Rightarrow S$ and $F_3 : S \Rightarrow L$ to the dependencies contained in the set F .

Our task is reduced in a way that it is enough to show that the fuzzy formula $F' : F_1 \wedge F_2 \wedge F_3 \wedge \neg\Gamma$ is not valid.

Namely, the fact that F_1, F_2, F_3 are known to be valid, together with the fact that F' is not valid, would mean that $\neg\Gamma$ is incorrect, which would immediately yield that Γ must be true.

To use the resolution rules, we transform F into conjunctive normal form F^* , where

$$F^* = \left\{ \neg P \vee Q, \neg Q \vee \neg R \vee S, \neg S \vee L, P, R, \neg L \right\}.$$

The following resolvents hold true: $\neg P \vee Q$ and P give Q .

$\neg S \vee L$ and $\neg L$ give $\neg S$.

Furthermore, $\neg Q \vee \neg R \vee S$ and R give $\neg Q \vee S$.

Now, $\neg Q \vee S$ and Q give S .

So, S and $\neg S$ exclude each other.

The obtained condition means that $\neg\Gamma$ does not hold, i.e., that Γ is true. \square

5 Conclusion

The paper is devoted to equivalence established between the similarity-based fuzzy relation databases theory (taken through fuzzy functional dependencies), and a fragment of fuzzy logic theory (via fuzzy logic operators).

In view of the subject and goal, the attributes are assigned explicit values in the unit interval $[0, 1]$, and are treated as fuzzy formulas in this way. Consequently, and generally, any fuzzy functional dependency in the case at hand is turned into a fuzzy formula.

Looking back at the derived results, one notes that the attached fuzzy formula is satisfied by the appropriate valuation, anytime the given dependency agrees with the initial fuzzy relation (Theorem 1).

However, the opposite statement is not necessarily true (Theorem 2).

The research is widened to include sets of fuzzy functional dependencies (Theorems 3-5), where the connection between arbitrary fuzzy relations and the correctness of the associated fuzzy formulas is

achieved by making use of two-element fuzzy relation instances.

As becomes clear from the example above, the obtained equivalence is making possible the application of the resolution techniques (treated as relevant inference rules). Thus, one's work on purely theoretical aspects of the dependency theory may be substituted by the one, which is more appropriate to machine language.

Regarding the future research, we note that an analogous study is planned to be conducted upon fuzzy multivalued, or more generally, vague functional (multivalued) dependencies theories.

6 Remarks

Regarding the electrical and computer engineering applications of this study (automatic control, robotics and industry), we provide the following example.

Consider the attributes "Name", "Age", "Education", "Salary" and "Consumption" on some fuzzy relation scheme R_1 .

Denote by U the universal set of attributes.

Suppose that domains of the above attributes are given by the following sets:

$$P' = \{Sanela, Dzenan, Amela, Zenan\},$$

$$Q' = \{young, 45, old\},$$

$$R' = \{bachelor, master\},$$

$$S' = \{250EUR, 1500EUR\},$$

$$L' = \{low, average, high\}.$$

As it is usual, we introduce similarity relations on given domains. Such relations (see, Section 1) must be reflexive, symmetric and must satisfy the max-min transitivity condition.

Let $s_1 : P' \times P' \rightarrow [0, 1]$ be the similarity relation on P' given by: $s_1(x, x) = 1$ for all $x \in P'$, and $s_1(x, y) = s_1(y, x) = 0$ if $x, y \in P', x \neq y$.

Hence, we have for example:

$$s_1(Sanela, Sanela) = 1, \text{ while } s_1(Amela, Dzenan) = 0.$$

Note that s_1 defined in this way is obviously reflexive and symmetric. It is also max-min transitive. Namely,

$$\begin{aligned} & \max_{q \in P'} \left\{ \min \left\{ s_1(Sanela, q), s_1(q, Amela) \right\} \right\} \\ = & \max \left\{ \min \left\{ s_1(Sanela, Sanela), \right. \right. \\ & \left. \left. s_1(Sanela, Amela) \right\}, \right. \\ & \left. \min \left\{ s_1(Sanela, Dzenan), \right. \right. \\ & \left. \left. s_1(Dzenan, Amela) \right\}, \right. \\ & \left. \min \left\{ s_1(Sanela, Amela), \right. \right. \\ & \left. \left. s_1(Amela, Amela) \right\}, \right. \\ & \left. \min \left\{ s_1(Sanela, Zenan), \right. \right. \\ & \left. \left. s_1(Zenan, Amela) \right\} \right\} \\ = & \max \left\{ \min \{1, 0\}, \min \{0, 0\}, \right. \\ & \left. \min \{0, 1\}, \min \{0, 0\} \right\} \\ = & \max \{0, 0, 0, 0\} \\ = & 0 = s_1(Sanela, Amela). \end{aligned}$$

It follows that

$$\begin{aligned} & s_1(Sanela, Amela) \\ \geq & \max_{q \in P'} \left\{ \min \left\{ s_1(Sanela, q), s_1(q, Amela) \right\} \right\}, \end{aligned}$$

so the max-min transitivity condition holds true in this particular case.

In order to show that the condition

$$\begin{aligned} & s_1(x, z) \\ \geq & \max_{q \in P'} \left\{ \min \left\{ s_1(x, q), s_1(q, z) \right\} \right\} \quad (6) \end{aligned}$$

is always valid, we note the following facts.

If x and z are mutually different, then each minimum which appears on the right hand side of (6) is 0.

More precisely, q can be equal either to x or to z . Nevertheless, either $s_1(x, q)$ or $s_1(q, z)$ is 0.

If $q \neq x$ and $q \neq z$, then $s_1(x, q) = 0, s_1(q, z) = 0$, so the corresponding minimum is once again 0.

Thus, for $x \neq z$, the inequality (6) is correct.

On the other hand, for $x = z$, we have that $s_1(x, z) = 1$, so the inequality (6) is again valid, having in mind that the maximum on the right hand side of (6) is not larger than 1.

This shows that the relation s_1 (given as the identity relation on P') is an example of the similarity relation.

We fix this relation on P' in the sequel.

Define $s_2 : Q' \times Q' \rightarrow [0, 1]$ by $s_2(young, young) = s_2(45, 45) = s_2(old, old) = 1$, and $s_2(young, 45) = s_2(45, young) = 0.5$, $s_2(45, old) = s_2(old, 45) = 0.5, s_2(young, old) = s_2(old, young) = 0.5$.

If $x = z$, the inequality (6) holds immediately true for s_2 .

In order to show that s_2 is a similarity relation on Q' , it is enough to consider $s_2(young, 45), s_2(young, old)$ and $s_2(45, old)$.

We have,

$$\begin{aligned} & \max_{q \in Q'} \left\{ \min \left\{ s_2(young, q), s_2(q, 45) \right\} \right\} \\ = & \max \left\{ \min \left\{ s_2(young, young), \right. \right. \\ & \left. \left. s_2(young, 45) \right\}, \right. \\ & \left. \min \left\{ s_2(young, 45), s_2(45, 45) \right\}, \right. \\ & \left. \min \left\{ s_2(young, old), s_2(old, 45) \right\}, \right. \\ = & \max \left\{ \min \{1, 0.5\}, \min \{0.5, 1\}, \right. \\ & \left. \min \{0.5, 0.5\} \right\} \\ = & \max \{0.5, 0.5, 0.5\} \\ = & 0.5 = s_2(young, 45). \end{aligned}$$

Similarly,

$$\begin{aligned} & s_2(young, old) \\ \geq & \max_{q \in Q'} \left\{ \min \left\{ s_2(young, q), s_2(q, old) \right\} \right\}, \\ & s_2(45, old) \\ \geq & \max_{q \in Q'} \left\{ \min \left\{ s_2(45, q), s_2(q, old) \right\} \right\}. \end{aligned}$$

For the similarity relation on R' we take $s_3 : R' \times R' \rightarrow [0, 1]$. It is introduced by $s_3(bachelor, master) = s_3(master, bachelor) = 0.35$, and $s_3(bachelor, bachelor) = s_3(master, master) = 1$.

We deduce,

$$\begin{aligned} & \max_{q \in R'} \left\{ \min \left\{ s_3(\text{bachelor}, q), s_3(q, \text{master}) \right\} \right\} \\ = & \max \left\{ \min \left\{ s_3(\text{bachelor}, \text{bachelor}), \right. \right. \\ & \left. \left. s_3(\text{bachelor}, \text{master}) \right\}, \right. \\ & \left. \min \left\{ s_3(\text{bachelor}, \text{master}), \right. \right. \\ & \left. \left. s_3(\text{master}, \text{master}) \right\} \right\}, \\ = & \max \left\{ \min \{1, 0.35\}, \min \{0.35, 1\} \right\} \\ = & \max \{0.35, 0.35\} \\ = & 0.35 = s_3(\text{bachelor}, \text{master}). \end{aligned}$$

Therefore, s_3 is a similarity relation on R' .

We put $s_4 : S' \times S' \rightarrow [0, 1]$ to be given by:

$$\begin{aligned} s_4(250EUR, 250EUR) &= \\ s_4(1500EUR, 1500EUR) &= 1, \text{ and} \\ s_4(250EUR, 1500EUR) &= \\ s_4(1500EUR, 250EUR) &= 0.2. \end{aligned}$$

As in the previous case, we find that s_4 is a similarity relation on S' .

Finally, we introduce $s_5 : L' \times L' \rightarrow [0, 1]$ by
 $s_5(\text{low}, \text{low}) = s_5(\text{average}, \text{average}) =$
 $s_5(\text{high}, \text{high}) = 1$, and $s_5(\text{low}, \text{average}) =$
 $s_5(\text{average}, \text{low}) = 0.6$, $s_5(\text{low}, \text{high}) =$
 $s_5(\text{high}, \text{low}) = 0.6$, $s_5(\text{average}, \text{high}) =$
 $s_5(\text{high}, \text{average}) = 0.6$.

Reasoning in the same way as in the case of similarity relations s_1 and s_2 , we conclude that s_5 is a similarity relation on L' .

Let $r = \{t_1, t_2\}$ be two-elements fuzzy relation instance on R_1 , whose tuples t_1 and t_2 are determined in the following way.

The elements of t_1 are: $\{Sanela\}$, $\{young, 45\}$, $\{master\}$, $\{250EUR, 1500EUR\}$ and $\{low, average\}$. Furthermore, the elements of t_2 are: $\{Dzenan, Zenan\}$, $\{young\}$, $\{bachelor, master\}$, $\{250EUR\}$ and $\{low\}$.

Note that the scenario described by r is realistic and absolutely possible to occur in reality.

Now, we calculate the conformances $\varphi(A[t_1, t_2])$ for $A \in U$. We obtain,

$$\begin{aligned} & \varphi(\text{Name}[t_1, t_2]) \\ = & \min \left\{ \min_{x \in \{Sanela\}} \left\{ \max_{y \in \{Dzenan, Zenan\}} \left\{ \right. \right. \right. \\ & \left. \left. \left. s_1(x, y) \right\} \right\}, \right. \\ & \left. \min_{x \in \{Dzenan, Zenan\}} \left\{ \max_{y \in \{Sanela\}} \left\{ \right. \right. \right. \\ & \left. \left. \left. s_1(x, y) \right\} \right\} \right\} \\ = & \min \left\{ \max \left\{ s_1(Sanela, Dzenan), \right. \right. \\ & \left. \left. s_1(Sanela, Zenan) \right\}, \right. \\ & \left. \min \left\{ s_1(Dzenan, Sanela), \right. \right. \\ & \left. \left. s_1(Zenan, Sanela) \right\} \right\} \\ = & \min \{ \max \{0, 0\}, \min \{0, 0\} \} \\ = & \min \{0, 0\} = 0, \end{aligned}$$

$$\begin{aligned} & \varphi(\text{Age}[t_1, t_2]) \\ = & \min \left\{ \min_{x \in \{young, 45\}} \left\{ \max_{y \in \{young\}} \left\{ \right. \right. \right. \\ & \left. \left. \left. s_2(x, y) \right\} \right\}, \right. \\ & \left. \min_{x \in \{young\}} \left\{ \max_{y \in \{young, 45\}} \left\{ \right. \right. \right. \\ & \left. \left. \left. s_2(x, y) \right\} \right\} \right\} \\ = & \min \left\{ \min \left\{ s_2(young, young), \right. \right. \\ & \left. \left. s_2(45, young) \right\}, \right. \\ & \left. \max \left\{ s_2(young, young), \right. \right. \\ & \left. \left. s_2(young, 45) \right\} \right\} \\ = & \min \{ \min \{1, 0.5\}, \max \{1, 0.5\} \} \\ = & \min \{0.5, 1\} = 0.5, \end{aligned}$$

$$\begin{aligned}
 & \varphi (Education [t_1, t_2]) \\
 = & \min \left\{ \min_{x \in \{master\}} \left\{ \max_{y \in \{bachelor, master\}} \left\{ s_3(x, y) \right\} \right\}, \right. \\
 & \left. \min_{x \in \{bachelor, master\}} \left\{ \max_{y \in \{master\}} \left\{ s_3(x, y) \right\} \right\} \right\} \\
 = & \min \left\{ \max \left\{ s_3(master, bachelor), \right. \right. \\
 & \left. \left. s_3(master, master) \right\}, \right. \\
 & \left. \min \left\{ s_3(bachelor, master), \right. \right. \\
 & \left. \left. s_3(master, master) \right\} \right\} \\
 = & \min \{ \max \{0.35, 1\}, \min \{0.35, 1\} \} \\
 = & \min \{1, 0.35\} = 0.35,
 \end{aligned}$$

$$\begin{aligned}
 & \varphi (Salary [t_1, t_2]) \\
 = & \min \left\{ \min_{x \in \{250EUR, 1500EUR\}} \left\{ \max_{y \in \{250EUR\}} \left\{ s_4(x, y) \right\} \right\}, \right. \\
 & \left. \min_{x \in \{250EUR\}} \left\{ \max_{y \in \{250EUR, 1500EUR\}} \left\{ s_4(x, y) \right\} \right\} \right\} \\
 = & \min \left\{ \min \left\{ s_4(250EUR, 250EUR), \right. \right. \\
 & \left. \left. s_4(1500EUR, 250EUR) \right\}, \right. \\
 & \left. \max \left\{ s_4(250EUR, 250EUR), \right. \right. \\
 & \left. \left. s_4(250EUR, 1500EUR) \right\} \right\}
 \end{aligned}$$

$$\begin{aligned}
 & = \min \{ \min \{1, 0.2\}, \max \{1, 0.2\} \} \\
 & = \min \{0.2, 1\} = 0.2,
 \end{aligned}$$

$$\begin{aligned}
 & \varphi (Consumption [t_1, t_2]) \\
 = & \min \left\{ \min_{x \in \{low, average\}} \left\{ \max_{y \in \{low\}} \left\{ s_5(x, y) \right\} \right\}, \right. \\
 & \left. \min_{x \in \{low\}} \left\{ \max_{y \in \{low, average\}} \left\{ s_5(x, y) \right\} \right\} \right\} \\
 = & \min \left\{ \min \left\{ s_5(low, low), \right. \right. \\
 & \left. \left. s_5(average, low) \right\}, \right. \\
 & \left. \max \left\{ s_5(low, low), \right. \right. \\
 & \left. \left. s_5(low, average) \right\} \right\} \\
 = & \min \{ \min \{1, 0.6\}, \max \{1, 0.6\} \} \\
 = & \min \{0.6, 1\} = 0.6.
 \end{aligned}$$

Now, one is position to consider various fuzzy functional dependencies on scheme R_1 . It is also possible to check whether or not fuzzy relation instance r satisfies such dependencies.

Thus, the dependencies: $\{Name\} \xrightarrow{0.95}_F \{Age\}$, $\{Age, Education\} \xrightarrow{0.19}_F \{Salary\}$ and $\{Salary\} \xrightarrow{0.8}_F \{Consumption\}$ are satisfied by r .

Indeed,

$$\begin{aligned}
 & \varphi (Age [t_1, t_2]) \\
 = & 0.5 > 0 = \min \{0.95, 0\} \\
 = & \min \{0.95, \varphi (Name [t_1, t_2])\}.
 \end{aligned}$$

Furthermore,

$$\begin{aligned}
 & \varphi (\{Age, Education\} [t_1, t_2]) \\
 = & \min \{ \varphi (Age [t_1, t_2]), \varphi (Education [t_1, t_2]) \} \\
 = & \min \{0.5, 0.35\} = 0.35,
 \end{aligned}$$

so

$$\begin{aligned}
 & \varphi (Salary [t_1, t_2]) \\
 = & 0.2 > 0.19 = \min \{0.19, 0.35\} \\
 = & \min \{0.19, \varphi (\{Age, Education\} [t_1, t_2])\}.
 \end{aligned}$$

Finally,

$$\begin{aligned}
 & \varphi (Consumption [t_1, t_2]) \\
 = & 0.6 > 0.2 = \min \{0.8, 0.2\} \\
 = & \min \{0.8, \varphi (Salary [t_1, t_2])\}.
 \end{aligned}$$

Note that the dependency $\{Name, Education\} \xrightarrow{0.19}_F \{Consumption\}$ is also satisfied by r . Namely,

$$\begin{aligned} & \varphi(\{Name, Education\} [t_1, t_2]) \\ &= \min \{ \varphi(Name [t_1, t_2]), \varphi(Education [t_1, t_2]) \} \\ &= \min \{ 0, 0.35 \} = 0, \end{aligned}$$

so

$$\begin{aligned} & \varphi(Consumption [t_1, t_2]) \\ &= 0.6 > 0 = \min \{ 0.19, 0 \} \\ &= \min \{ 0.19, \varphi(\{Name, Education\} [t_1, t_2]) \}. \end{aligned}$$

This particular example shows that for fixed fuzzy relation instance r , we are able to verify whether or not it satisfies given fuzzy functional dependencies, or more importantly, whether or not it satisfies some individual fuzzy functional dependency. In our case we proved that each of the four dependencies listed above are independently satisfied by two-elements fuzzy relation instance r . Same reasoning could be applied in the case of arbitrary fuzzy relation instance r . However, one should note that this method (case by case), is not so suitable generally. Namely, one should recognize that the conclusions derived in this example could be summarized in the form that the dependency $\{Name, Education\} \xrightarrow{0.19}_F \{Consumption\}$ follows from the dependencies $\{Name\} \xrightarrow{0.95}_F \{Age\}$, $\{Age, Education\} \xrightarrow{0.19}_F \{Salary\}$ and $\{Salary\} \xrightarrow{0.8}_F \{Consumption\}$ in the world of two-tuples fuzzy relation instances, and then require more general result, that the same statement remains valid in the case of arbitrary fuzzy relations. More precisely, one should note that the assertion of Example 1 (see, Section 4), could be applied in this particular situation. Indeed, put P, Q, R, S, L to be the attributes "Name", "Age", "Education", "Salary", "Consumption", respectively. We assume that R_1 is $R_1(P, Q, R, S, L)$. Furthermore, we assume that $\theta_1 = 0.9$, $\theta_2 = 0.19$ and $\theta_3 = 0.8$. We have that $\theta = \min \{ \theta_1, \theta_2, \theta_3 \} = 0.19$. According to Example 1, the dependencies: $\{P\} \xrightarrow{\theta_1}_F \{Q\}$, $\{Q, R\} \xrightarrow{\theta_2}_F \{S\}$ and $\{S\} \xrightarrow{\theta_3}_F \{L\}$ yield the dependency $\{P, R\} \xrightarrow{\theta}_F \{L\}$ in arbitrary fuzzy relations. Translated into our notation, this means that the dependencies $\{Name\} \xrightarrow{0.95}_F \{Age\}$, $\{Age, Education\} \xrightarrow{0.19}_F \{Salary\}$ and $\{Salary\} \xrightarrow{0.8}_F \{Consumption\}$ determine the dependency $\{Name, Education\} \xrightarrow{0.19}_F \{Consumption\}$. In other words, this means that the dependency

$\{Name, Education\} \xrightarrow{0.19}_F \{Consumption\}$ is valid not only with respect to our particular two-element fuzzy relation r , but also with respect to arbitrary fuzzy relation satisfying $\{Name\} \xrightarrow{0.95}_F \{Age\}$, $\{Age, Education\} \xrightarrow{0.19}_F \{Salary\}$ and $\{Salary\} \xrightarrow{0.8}_F \{Consumption\}$ at the same time. This general result follows from the assertion of Example 1, and, as we have already seen, the assertion of Example 1 follows either manually from the inference rules (proof I), or automatically from the resolution principle (proof II). Thus, thanks to the results derived in this research, our particular problem of showing that given two-element fuzzy relation instance r satisfies the dependency $\{Name, Education\} \xrightarrow{0.19}_F \{Consumption\}$ can be generalized, and, moreover, its solution can be automated. So, it is automatization which enables possible electrical and computer engineering application of the study as well as its application within automatic control, robotics and industry.

References:

- [1] R. C. T. Lee, Fuzzy Logic and the Resolution Principle, *J. Assoc. Comput. Mach.* 19, 1972, pp. 109–119.
- [2] M. Sozat and A. Yazici, A complete axiomatization for fuzzy functional and multivalued dependencies in fuzzy database relations, *Fuzzy Sets and Systems* 117, 2001, pp. 161–181.
- [3] W. Y. Liu, The fuzzy functional dependency on the basis of the semantic distance, *Fuzzy Sets and Systems* 59, 1993, pp. 173–179.
- [4] C. Giardina, I. Sack, and D. Sinha, *Fuzzy Field Relational Database Tech. Report 8332*, Elect Engng. and Computer Science Dept., Stevens Institute of Technology, Hoboken, 1983
- [5] J. F. Baldwin, Knowledge engineering using a fuzzy relational inference language, in: Proc. IFAC Conf. on Fuzzy Information, Knowledge Representation, and Decision Processes, Marseille 1983, pp. 15–23.
- [6] H. Prade, The connection between Lipski's approach to incomplete information data bases and Zadeh's Possibility Theory, in: Proc. Int. Conf. System Meth., 1982, pp. 402–408.
- [7] H. Prade, Lipski's approach to incomplete information databases restated and generalized in the setting of Zadeh's Possibility Theory, *Inform. Systems* 9, 1984, pp. 27–42.
- [8] H. Prade and C. Testemale, Generalizing database relational algebra for the treatment of incomplete/uncertain informations and vague queries, in: 2nd NAFIP Workshop, 1983.

- [9] B. P. Buckles and F. E. Petry, A fuzzy representation of data for relational databases, *Fuzzy Sets and Systems* 7, 1982, pp. 213–216.
- [10] B. P. Buckles and F. E. Petry, Fuzzy databases and their applications, *Fuzzy Inform. Decision Process* 2, 1982, pp. 361–371.
- [11] B. P. Buckles and F. E. Petry, Uncertainty models in information and database systems, *J. Inform. Sci.* 11, 1985, pp. 77–87.
- [12] K. V. S. V. N. Raju and A. K. Majumdar, Fuzzy functional dependencies and lossless join decomposition of fuzzy relational database systems, *ACM. Trans. Database Systems* 13, 1988, pp. 129–166.
- [13] H. Sachar, Theoretical aspects of design and retrieval from similarity-based relational database systems, Ph.D. dissertation, University of Texas at Arlington, 1986.
- [14] N. Dukić and Z. Avdagić, Fuzzy Functional Dependency and the Resolution Principle, *Informatica* 16, 2005, pp. 45–60.
- [15] N. Dukić, Dž. Gušić, A. Muratović-Ribić, A. Alihodžić, E. Tabak, and H. Dukić, From fuzzy dependences to fuzzy formulas and vice versa, for Kleene-Dienes fuzzy implication operator, *WSEAS Trans. on Systems and Control* 13, 2018, pp. 285–297.
- [16] Dž. Gušić, Soundness and Completeness of Inference Rules for New Vague Functional Dependencies, in: N. Mastorakis, V. Mladenov and A. Bulucea (eds.) MATEC Web of Conferences, Vol. 292, 23rd International Conference on Circuits, Systems, Communications and Computers (CSCC 2019), Athens 2019, pp. 1–9.
- [17] A. Lu and W. Ng, Managing Merged Data by Vague Functional Dependencies, in: P. Atzeni, W. Chu, H. Lu, S. Zhou, T.-W. Ling (eds.) ER 2004 LNCS, vol. 3288, Springer-Verlag, Berlin Heidelberg 2004, pp. 259–272.
- [18] S. M. Chen, Similarity Measures Between Vague Sets and Between Elements, *IEEE Transactions on Systems, Man and Cybernetics* 27, 1997, pp. 153–159.
- [19] D. H. Hong and C. Kim, A note on Similarity Measures Between Vague Sets and Between Elements, *Information Sciences* 115, 1999, pp. 83–96.
- [20] F. Li and Z. Xu, Measures of Similarity Between Vague Sets, *Journal of Software* 12, 2001, pp. 922–927.
- [21] P. Grzegorzewski, Distances Between Intuitionistic Fuzzy Sets and/or Interval-valued Fuzzy Sets Based on the Hausdorff Metric, *Fuzzy Sets and Systems* 148, 2004, pp. 319–328.
- [22] J. Mishra and S. Ghosh, A New Functional Dependency in a Vague Relational Database Model, *Int. J. of Computer Applications* 39, 2012, pp. 29–36.
- [23] Dž. Gušić, Z. Šabanac, and S. Nesimović, On Certain Properties of Vague Relational Databases, in: 3rd International Conference on Control, Artificial Intelligence, Robotics and Optimization (ICCAIRO), Athens, Greece, 2019, pp. 195–201.
- [24] Dž. Gušić and S. Nesimović, Automatization in Vague Database Relations via Lukasiewicz Fuzzy Implication Operator, *WSEAS Trans. on Systems and Control* 14, 2019, pp. 445–459.
- [25] N. Dukić, Dž. Gušić, and N. Kajmović, Reichenbach and f -Generated Implications in Fuzzy Database Relations, *Int. J. of Circuits, Systems and Signal Processing* 12, 2018, pp. 285–297.
- [26] B. M. Mansoor and T. Z. Ismaeel, Design of Low Complexity Low Delay Short Length Code Based on Convolutional Encoder and LDPC Decoder, *Int. J. of Circuits, Systems and Signal Processing* 12, 2018, pp. 587–595.
- [27] Y. He, L. Ou, X. Pu, Y. Li, and Y. Zhao, E-commerce Network Security Protection Technology based on Mixed Data Encryption Strategy, *Int. J. of Circuits, Systems and Signal Processing* 13, 2019, pp. 727–731.
- [28] J. Zhou, Y. Zhu, and C. Yang, Path Planning and Trajectory Tracking Control of Large Intelligent Mowing Robot based on GPS-RTK, *Int. J. of Circuits, Systems and Signal Processing* 13, 2019, pp. 132–139.
- [29] R. Willmott, Two fuzzier implication operators in the theory of fuzzy power sets, *Fuzzy Sets and Systems* 4, 1980, pp. 31–36.
- [30] M. Baczyński and B. Jayaram, *Fuzzy Implications*, Berlin–Heidelberg, Springer–Verlag, 2008
- [31] Y. Shi, A Deep Study of Fuzzy Implications, Ph.D. dissertation, Faculty of Science, Ghent University, Ghent, 2009.

Contribution of individual authors to the creation of a scientific article (ghostwriting policy)

Dženan Gušić has conceptualized the research and organized the paper.
Sanela Nesimović derived the results, discussed their applications, and made examples and the literature review.

Creative Commons Attribution License 4.0 (Attribution 4.0 International, CC BY 4.0)

This article is published under the terms of the Creative Commons Attribution License 4.0
https://creativecommons.org/licenses/by/4.0/deed.en_US